■ No. 3, Oduyemi Street, Opp. Ikeja Local Government Secretariat, Anifowoshe, Ikeja, Lagos.■ ■ Tel: ⊕1-7610113, 080-59001166, 080-23429283 080-57753635, 080-72220888■ ■ Fax: 01-2557807, E-mail: femimat@femimat.net femimatmail@yahoo.com■



8<sup>th</sup> November, 2017.

## The Procurement Officer,

Africa Center of Excellence for Neglected Tropical Disease and Forensic Biotechnology (ACENTDFB), Center for Biotechnology and Research Training, Ahmadu Bello University, Zaria.

Dear Sir,

# QUOTATION FOR THE PROCUREMENT AND INSTALLATION OF ACENTDFB LABORATORY EQUIPMENT LOT $\mathbf{1}$

We thank you for granting us the opportunity to be among the reputable companies selected to quote for the supply and installation of the above listed equipment.

We have made available, detailed provisions for the items requested based on the latest technology and product range currently available in the industry. We have also been conscious of the relevance of such technology to our immediate environment.

### PROJECT EXPERIENCE

Our interest in this project stems from the invaluable experience we have garnered over the years from executing similar projects. We have supplied and installed medical, laboratory, teaching and research equipment to various teaching hospital and learning institutions and across the country.

We have equally supplied and maintaining specialized equipment to places like Obafemi Awolowo University Teaching Hospital (OAUTH), Federal University of Technology, STEP-B Project, (FUTA), Federal University of Technology, Akure, (FUTA), University of Lagos, Obafemi Awolowo University, (STEP-B Project), Obafemi Awolowo University, (OAU) Ile-Ife, Central Science Laboratory of Obafemi Awolowo University, Ile-Ife, Centre for Energy Research and Development of Obafemi Awolowo University, Ile-Ife, University of Ilorin Teaching Hospital (UITH), Yaba College of Technology, Yaba, Lagos, University of Ibadan, Oyo State, National Research Institution for Chemical Technology, Zaria, Kaduna State (NARICT), University of Ilorin Teaching Hospital, Nigerian Institute of Science Laboratory Technology (NISLT), the Polytechnic, Ibadan, Oyo State, various University Teaching Hospitals in Nigeria and World Bank sponsor project at Federal Capital Development Authority (FCDA) Abuja, just to mention a few.

Femimat Concept Limited have in their employment professionally trained Staff, equipped and experienced in procuring of any equipment. We are able to carry out maintenance on any equipment we supplied.

Please note that our offer is as comprehensive as possible given the target specification as well as prevailing environmental conditions. Where appropriate, our offer includes essential accessories that will ensure that the equipment are optimally functional.

Furthermore, our expertise in this sector will ensure that all equipment supplied by us will not only be , compatible to the environment in which they shall be used but be quite user friendly.

PLANNED PREVENTIVE MAINTENANCE: Our Engineers will provide preventive maintenance during the warranty period. After expiry of the warranty period, we will provide after sales maintenance under a separate contract.

#### DELIVERY:8 weeks

WARRANTY: We shall extend the Manufacturer warranty of 12 months to cover all equipment supplied by us from the date of supply. This warranty excludes cost of servicing/maintenance (charged separately on request by the consumer), damages arising out of abuse or improper use. The warranty is only applicable under our standard condition of sales. The above price include 12 months Warranty from installation or 15 months from delivery whichever one come first.

#### VALIDITY: 120 DAYS

INSTALLATION & COMMISSIONING: Will be carried out by our team of dedicated, well trained and Manufacturer certified Engineers.

TRAINING: Our Medical personnel will conduct local training for the first line Users and maintenance on the equipment after installation.

AFTER-SALES SERVICES: This will be provided by our trained Engineers to ensure that all equipment supplied is optimally utilized on expiry of the warranty period.

We sincerely look forward to offering our highly professional service in this regard.

Thank you.

Yours faithfully,

For: Feminat Concept Limited

Project Dinettor

# AFRICAN CENTRE OF EXCELLENCE FOR NEGLECTED TROPICAL DISEASES AND FORENSIC BIOTECHNOLOGY AHMADU BELLO UNIVERSITY ZARIA LOT 1

A	V DESCRIPTION  UV - Visible spectrophotomy is a second sec	(	QTY	UNIT PRI	CE TOTAL
	UV – Visible spectrophotometer, 200-700nm, w 1nm steps, monochromatic, for cuvettes and micro plates (96 wells)	ith	2	2,800,000.	CE TOTAL PRICE 5,600,000.00
	Accessories:				
	Mercury lamp, printer interface, quartz and glas	S	1	Include	ed Included
В	Manufacturer: Fisher scientific UK Analytical Balance, 0.1mg sensitivity, 60g				meruded
	weighing pan, sliding door and R- 232 interface		1	580,000.0	0 580,000.00
C	Allarytical Balance 1mg govern	1			
	capacity, with large LCD display  Manufacturer: Fisher scientific UK	1		620,000.00	620,000.00
D	pri and conductivity motor 1				
	of 0.002pH, 0.2mV and 0.01 $\square$ S inclusive of	4		680,000.00	2,720,000.00
	computer interface, cable and apter,				
	Spare electrode probe				
	Manufacturer: Fisher scientification				
	The Flake Machine Canadity 261	1		0.00	
	of 20-120psi and water consumption rate of 45L per 45kg of ice. Inclusive of power cord	1		843,182.30	843,182.30
	Accessory				
	10mm tubes and water filter package	2			
	10th CATOLLIGIE.	2 1	12	11,970.00	23,940.00
	Flow cytometer Sysmex / PartecCyFlowPloidy V1  V LED, 1 colour, 1 parameter	1	12,	791,266.00	12,991,266.00
N	lanufacturer: Sysmey / Parto C:				
	Brock, 12111m holde for 24				
p san s	- 0001 y	4		52,320.00	209,280.00
1	Omm tube	1		F 0.00	
m	utoclave, bench top, front loading 23L capacity	2	26	5,000.00 58,123.30	5,000.00
M	anufacturer: LTF HK		2,0	30,123.30	5,316,246.60
AL	itoclave, top loading wasting				
ter	nperature probe, water consi	1	14,9(	01,490.60	14,901,490.60
Ma	mufacturer: Fisher scientific Liv			TAMAT	CONCER
PA	GE 1 SUB-TOTAL			Emil	O CON
1				1 stalls	3810,405.50

#1 \*

#1

S/N	DESCRIPTION	QTY	HMIT DDICE		
Α	Water bath, shaking capacity: 27L, wattage: 1500W, temperature range: 5-100°C with LCD display. Inclusive of steel gable cover, shaking tray and rubber duck.  Accessories:	3	UNIT PRICE 2,000,000.00	<b>TOTAL PRICE</b> 6,000,000.00	
	Trays Sample racks Clips Manufacturer: Fisher scientific UK	2 3 3	277,301.30 112,020.80 29,849.60	554,602.60 336,062.40 89,548.80	
В	Oven, drying, with LED display, 48L capacity	1	585,000.00	585,000.00	
	Inclusive of one fixed and 2 adjustable shelves Accessory: shelves Manufacturer: Thermo Scientific UK	2	included	included	
С	Electroporator, Inclusive of disposable cuvettes, safety stand and rack	1	1,460,660.00	1,460,660.00	
	Accessories Cuvettes (pack of 50)- 4mm Gap				
	Cuvettes (pack of 50)-1mm Gap Manufacturer: EPPENDORF GERMANY	10 10	80,141.30 80,141.30	801,413.00 801,413.00	
D	Gel Electrophoresis machine, horizontal, wide (Runs 10-80 samples) Inclusive of buffer chamber, lid with attaches, power supply leads, gasketed gel tray, external multiple gel caster, four combs and two 40 wells (1.5mm thick)	4	498,830.00	1,995,320.00	
	Accessories Power system 120V(for DNA/RNAand protein				
	analysis)	4	Included	Included	
	Adapter. Manufacturer: Fisher scientific.	4	Included	Included	
Е	Electrophoresis machine, mini Gel, horizontal	4	339,550.00	1,358,200.00	
	Manufacturer: Fisher scientific.				
F	Digital thermometer, hand held, with stainless steel stem, LCD screen an protective guard.	2	15,370.00	30,740.00	
	PAGE 2 SUB-TOTAL		Sign 11,012,959.80		

SUMMARY	
PAGE 1	43,810,405.50
PAGE 2	14,012,959.80
CONTINGENCY	500,000.00
SUB TOTAL	\$1928.806.X
ADD 5% VAT	Atolog 160 23
TOTAL	647239,533,57

Amount in words: Sixty one million two hundred and thirty nine thousand two hundred and thirty three naira fifty seven kobo only.

Multiplication of the fifty seven kobo only.